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var students = 6 # ZiEAEH(N=6)
var groups = 3 # 7IV—T0H(M=3)
var count = 1 # IV —THE5OMIRE
var gID[students] # ZHEAICEYVATEIN—TEHFS
var i
for i = @ to students - 1
gID[ i ] = count
T
v x count = count + 1
if
count =1
end
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i (D)

# EHIZH gID, oldGID xH 62 LOERINMEEI G2 HN TS

# BCHIZE K memo, flag EHoOPLOERSINIHELLT 0 5L TWS
var i, ng, og

# ZEAEENEIARTWL
for 1 = @ to students - 1

ng = gID[ i 1 # ZOZHBEDHIN—TESELRL
og =
if # AEDVEESFE F THNL
else
if
end
end

end

# EEPFEUCIHI VTR HEINTH TNV —TOREERT S
var same = 0

for i = @ to groups - 1

if

end
end

print("same member case : ", same)
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